

(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### 5.4.2 Alumni contribution during the last five years (INR in Lakhs)

#### **INDEX**

Sr. No.	Contents	Page No.
1	Alumni Contribution 2020-2021	1-7
2	Alumni Scholarship 2020-2021	8-9
3	Laptop Distribution 2020-2021	10-12



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

Alumni Contribution 2020-2021

1st Floor, Trust Office, Si	EDUCATION SOCIETY indhi Society, Chembur, Mumbai - 400 071. 7088 • E-mail : veschembur@gmail.com
eccipt No. 107	Date : 10 11 20120
eceived with thanks from _Shn vijc	ay tamesa
	1 -three hundred sixty only 1-
/ cash / cheque No. 197623/ 10101	Rankdated 09 11 2020 on an account of donation
₹ 61,360/-	
AN No. : AAATV2239C egistered under : . Societies Registration Act, Bom78/1959 ( . Bombay Public Trust Act No. F- 1029 (Bo . Indian Income Tax Act Tax Exemption Ce I.T. Act No. Dee.efve. (it)/ceg.ve./80-	om.)



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### Alumni Contribution 2020-2021

# VIVEKANAND EDUCATION SOCIETY

1st Floor, Trust Office, Sindhi Society, Chembur, Mumbai - 400 071. Tel.: 2522 7460 / 2523 7088 • E-mail : veschembur@gmail.com

Receipt No. 103

Date : 23 11 2020

AND EDUGATION SOCIETY

Received with thanks from Future India seva Foundation

a sum of one letty Fifty three thousand cour hundred only 1-

by cash / cheque No. \_NEFT / ICICI Bont dated \_ 23-11-2020 on an account of donation

For VIVEKA

towards Corpers / General purpose for

₹ 1,3400/-

PAN No. : AAATV2239C Registered under :

- 1. Societies Registration Act, Born78/1959 GBB
- 2. Bombay Public Trust Act No. F- 1029 (Born.)

 Indian Income Tax Act Tax Exemption Certificate U/s-80-G I.T. Act No. Dee.efve.(it)/ceg.ve./80-G/1388/2006/2006-07

Trustee



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### Alumni Contribution 2020-2021

1st Floor, Trust Office, St	EDUCATION SOCIETY ndhi Society, Chembur, Mumbai - 400 071 7088 • F-mail : veseliembur@gmail.com
Receipt No. 104	Date: 24/ 11/2020
Received with thanks from GC	wam municipar
a sum of Thoty Housond s by cash / cheque No. NETT / ICICI towards Corpus / General purpose for	1x hundred eigeby ONY 1- Bankdated 24 11 2020 on an account of donation
₹ 306801-	
PAN No. : AAATV2239C Registered under : 1. Societies Registration Act, Bom78/199 2. Bombay Public Trust Act No. F- 1029 3. Indian Income Tax Act Tax Exemption 1 T. Act No. Dee.efve.(it)/ceg.ve.	(Bom.)



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### Alumni Contribution 2020-2021 in Instrumentation Department

#### Alumni Donation in Instrumentation Department for Laptops

STEP	STEP	STEP
ENTER DETAILS	CONFIRM TRANSACTION	ACKNOWLEDGEMENT
Reference Number	N134211504313499	
From Account	02761000041434	
Beneficiary Name	Rajesh Kumar Bhanushali	
Beneficiary IFSC Code	UTIB0000489	
Beneficiary Account Number / Credit Card Number	915010031726292	
Bank Name	AXIS BANK	
Transfer Amount	51,000.00	
Transfer Description	Laptops	



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### Alumni Contribution 2020-2021 in Electronics and Telecommunication Department

Dr. [Mrs.] J. M. Nair M. Tech, Ph D. (IT B) Date: 06 10 2021 Principal Kel No VESIT/CDR 375 2021 - 2022-To, Mr. Kedar Pednekar, Alumnus-Batch-2018, Mombal. Dear Kedar, Thank you for your generous donation of lab equipment and components of Rupees 25000/- to Department of Electronics and Telecommunication, VES Institute of Technology, Chembur, Mumbai received on 21-January-2021. You are being an Alumnus of this institute shown kind gesture and affection towards institute, faculty and students. As per your request, we have registered all the components in Department's Tinkerer's LAB (408). All these components will be used in academic projects of department. Your generosity is greatly appreciated. For your reference list of components is attached with this letter. Thanking you Prof. Shoba Krishnan Mr. Mrugendra M Vasmatkar Head of Department, EXTC Lab-Incharge - Tinkerer's Lab, EXTC



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

1	List of Components Donated by Mr. Ke Tinkerer's Lab EXTC- 408			
<u>F</u> .	Name of Component	Quantity	Tentative Price	Total
15.	EM 18 Reader RFID Module			
		2	457/-	914/-
29	IR Sensor Module	5	24/-	120/-
14.1	MQ2 Smoke Gas Sensor Module	2	93/-	186/-
157	PIR Motion Sensor Detector Module HC-SR501	1	70/-	70/-
5	Soil Moisture Hygrometer Detection Humidity Sensor Module	3	63/-	189/-
5	LDR Light Sensor Module (LM393)	1	40/-	40/-
7	Temperature Sensor	1	40/-	40/-
8	Speed Measuring Sensor Groove Coupler Module For Arduino	1	48/-	48/-
9	MB102 Breadboard Power Supply Module 3.3V/5V	2	59/-	118/-
10	RFID RC522	1	140/-	140/-
11	XBee Pro S2C 63mW 802.15.4 Module	2	2295/-	4590/-
12	WIFI ESP8266 MOD	1	162/-	162/-
13	RTC Module	2	199/-	398
14	Dual Channel Weighing pressure sensor	1	75/-	75/-
15	Battery charger Module TP4056	2	99/-	198/-
16	Accelerometer sensor MPU6050	2	123/-	246/-
17	Ultrasonic Sensor	1	62/-	62/-
18	4 Relay Module	1	140/-	140/-
19	Finger print Module	1	1500/-	1500/-
20	4 Channel IIC 12C Logic Level Bi-Directional Converter Module 5V to 3.3V	3	44/-	132/-
21	Display	IL DATE CALL	and the second	1000
21	LCD	3	150/-	450/-
22	8051 Development Board 89852	1	470/-	470/-
1.20	IC'S	L	「日本」においてい	C. Gard
23	IC 89C51	10	99/-	990/-
24	IC 89S51	6	127/-	762/-
25	1C 89S52	4	85/-	340/-
26	Atmega 328	3	225/-	675/-
27	IC PIC16F877A	2	185/-	370/-
28	Universal 40 Pin ZIF DIP IC Test Board Socket	1	249/-	249/-
29	40 Pin IC Base	-4	17/-	68/-
30	Atmel AVR 8051 USB ISP Programmer	in the state	399/-	399/-
31	Copper Clad Board (PCB) 12x16,4x4	1,1	100/-	100/-
32		1,1	150/-	150/-
33	RF Trasmitter and Receiver	1	175/-	175/
34	Breadboard	2	40/-	80/-
35	PCB Eaching Solution ferric chloride	5 1	45/-	451-



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

	haloge Servo Motor		188/-	188/-
	6V DC water pump	1	55/-	55/-
1	Micro servo SG90	1	105/-	315/-
1	Assembled Robot	3	1200/-	3600/-
40	Voltage Stape down boost converter		130/-	130/-
41	Battery snap	7	3/+	21/-
42	Cell Holder	2	49/-	98/-
43	DC Jack	6	9/-	54/-
44	DC Connector	4	13/-	52/-
45	USB Connectors	3	15/-	45/-
46	Load Cell Conector 10Kg	1	315/-	315
47	LCD Keypad Shield	1	180/-	180/-
48	Berg Strip	20	8/-	160/-
49	Trasformer 0-12V	1	199/-	199/-
50	IR Sensor Array	1	445!-	445/-
51	Digital Pannel Meter	1	205/-	205/-
52	Motor Driver Shield	2	115/-	230/-
53	3-24V DC Buzzer	1	69/-	69/-
54	Keypad	1	85/-	85/-
55	Resisters, Capacitors		200/-	200/-
56	IC'S	A STATE AND A STATE	600/-	600/-
57	Switches	State of the state of	280/-	280/-
58	Potentiometers	5	16/-	80/-
50	Battery			Salar
59	Lead acid rechargeable Battery 6V 4.5Ah	1	675/-	675/-
60	Lead acid rechargeable Battery 12V 1.3Ah	1	749/-	749/-
61	9V Battery	4	20/-	80/-
62	Bo Motors	4	55/-	220/-
63	Gears	4	60/-	240/-
64	Servo Motor v006	1	290/-	290/
	Connecting wire		AND FILE	- SETTER
65	Ribbon Cable	1	149/-	149/
66	Mate to Male	2	75/-	150/
67	Male Female	2	75/-	150/
100	Total	Carlos States	25000/-	1 11 11 11

Mrs. Priyanka Omble Lab Assistant

Mr. MI cendra Vasmatkar Lab In charge

7



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### Alumni Scholarship 2020-2021

Alumni List with parents contact details for Scholarship

Sno	Name of student	Class	Mobile no of Student	Name of Father	Mobile no of Father	Name of Mother	Mobile no of Mother
1	Om Sakharam Yerawar	TE - CMPN	7887434495	-	: 9822644427		9284264025
2	Gayatri Jadhav	TE- ETRX	9969328751	-	/	Kalpana Jadhav	9594556664
3	Austin Prabhakar Mathew	SE - EXTC	9820563935	Prabhakar Mathew,	9820563935	/	1
4	Gaurav mandal	INFT	9324867260	-	Mr.GovinD Mandal	9867724507	
5	Sandesh Hambirrao Mandhare	TE INST	9594771162	Hambirrao Sampat Mandhare	9702580165	-	1
6	Santosh Munir Sahani	SY- MCA	7021026058	1	9224366325	1	/



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### Alumni Scholarship 2020-2021

Alumni Scholarship 2020-21





(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### Laptop Distribution 2020-2021

#### VESIT Alumni Association Handed Out Free Laptops this Pandemic

Owing to the current pandemic situation, schools and colleges have advanced to the online platforms to avoid any backlog in academics. Students have been having online lectures, lab sessions and examinations this, semester. Attending the lectures online lectures are comfortable, however virtual lab sessions and online examinations were challenging as many students did not possess desktops or laptops.

VESIT Alumni Association observed that online academics is here to stay and provisioning resources for online operations forms the need of the hour. In order to support the students of VESIT in the dire situation, VESIT Alumni Association (VESITAA), decided to provide laptops to a selected few needy students (one student from each department).

This decision of shortlisting the student was taken after consultation with the HODs and the scholarship team of VESIT. The laptop distribution took place in VESIT premises on Wednesday, the 11th of November, at 11:30 am, room no 208. The laptops were handed over to the students by the Vice Principal Dr. M. Vijaylakhshmi and the President of VESIT Alumni Association Shri. Vijay Talreja. The entire program was coordinated by the Treasurer and Jt. Treasurer of the Alumni Association Dr. Manoj Sabnis and Dr. Gresha Bhatia respectively.





(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### Laptop Distribution 2020-2021

	List of laptops					
Sr no	Date	Given by	Description	Laptop No.	Reg No.	Delivered to
1	03/11/2020		Laptop need to be Install O.S system Lenovo -PF1T934J		964	Student name:- Sachin Kumar Singh,ETRX,D6
2	03/11/2020	VESITAA	Laptop need to be Install O.S system Lenovo - PF1T8GSM	2	965	Student name:- Sunny Divakar Mourya,MCA afternoon
3	03/11/2020	VESITAA	Laptop need to be Install O.S system Lenovo - PF1T8PYG	3	966	Student name:Amisha Poyrekar, D13 Instrumentation
4	03/11/2020	VESITAA	Laptop need to be Install O.S system Lenovo - PF1TAQ1J	4	967	Student name: Rohit Ramchand Vaidhya, CMPN,D12 A
5	03/11/2020	VESITAA	Laptop need to be Install O.S system Lenovo - PF1TAQ45	5	968	Student name:- Mansi Rangwani With Bag, IT, D10B
6	03/11/2020	VESITAA	Laptop need to be Install O.S system Lenovo - PF1VBXEY	6	969	Student name:- Aaron Arimpur With Bag,D9 B





(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

#### Laptop Distribution 2020-2021

Laptop Distribution 2020-21

